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Instructions

1. All questions are compulsory.

2. Figures to the right indicate full marks.

3. Make suitable assumptions wherever necessary.
4. Start new question on new page

Q.1 Do as Directed.

A). Multiple choice type questions/Fill in the blanks. (Each of 1 mark) (05)
1. The given progression 1,2,3,4, 5... is an example of
a)Arithmetic Progression c)Geometric Progression
b) Harmonic Progression d) None of these
n
2 B=___
]
a)n! c) -
(n=n)!
] Ir!
b) n! d) nirl
(n=r)ir! (n=r)!
3IfBC Athen ANB =
a)B c)d
b)A d) None of these

1 3
4.1f A= then det(A)=
oz

a)l c)0
b) 2 d)3
5 Let A, B be matrices of size mx n, then (A + B)’ =
a)A’ c)(A+B)
b)B’ d) None of these
B).Define the following. (Each of 1 mark) (05)

1. Union of two sets

2. Difference of two sets
3. Complement of a set
4. Square Matrix
5. Diagonal matrix
C).Direct questions.(Each of 1 mark) (05)

1. Find the 20" term in the sequence 9, 15, 21, 27, 33, ....

2.Given ¢ (x) =3x% -4 , find the value of g(3)
3.Find the sum of the given series 5+6+7+8+......... +19.
4.How many words can be made(without meaning) from English?

5
5.Evaluate C3
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Q.2 Answer the following questions.

A 04
) 5 1 5 2 3 1 (04)
1. Find Product AB & BAforA=|0 3 4|andB=|5 6 4
6 7 8 2 5 10 (03)
2.1f A={1,2,3} and B ={4,6,5} then find (i) AxB (i) Bx A
B) 1. For the functions f and g, find their domain and then compute fog for number c, (04)
f(x)=3x2—4x; g(x)=2x-5; c=4.
1 2
2. 1f A= then find A> — A+1, (04)
3 4
Q.3 Answer the following questions.
A). 1. Find the sum of the given series 2+4+8+16+............ up to 10 terms. (03)
1 1
2. If f(x)=——,thenprowethat f(x)+ f| = |=1.
(X) Try p (X) (Xj (04)
B) 11f "C, =10, find the value of n. (04)
1 4 7
2.Solve: |2 5 8
369 (04)
Q.4 Attempt any three questions. (Each of 5 mark) (15)

11f A={1,2}, B={3,4} and C = {4,5} then prove that
Ax(BUC)=(AxB)U(AxC)

1 2 3
2.1fA=|0 -3 1] find the adjoint of matrix A.
4 3 6

4 4|
3. If A= , find inverse of A.
5 6

4. In a group of 70 people, 45 speak English, 33 speak French and 10 speak neither English nor
French. (a). How many people speak both English as well as French?

(b). How many can speak only English language?

(c). How many can speak only French language?
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